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D

Arrange the following words in a logical

and meaningful order.

1. Lustrum 2. Century

3. Year 4, Millennium
5. Decade

A.3,1,5 2,4 B.5,4,3,2,1
C.2,1,5,3,4 D.5,1,3,2,4
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D. (5, 32, 121)
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In the field of Information & Communi-

cation Technology, what is the full form

of EEPROM?

A. Electrically Erasable Programmable
Read-Only Memory

B. Electrically Efficient Programmable
Read-Only Memory

C. Enhanced Electrical Portable Read-
Only Memory

D. Electrically Efficient Portable Read-
Only Memory
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Herts is the SI unit of
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C. Pressure D. Force
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Quantitative Aptitude

(cos9° +sin81°)(sec9° + cosec81°)
sin56°sec34° + cos 25° cosec65°

AT &

A. 2 B. 1

c. 1
2

A
3R 3 - 2 sin?0 - 3cosf = 0, 0° < 6 <
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A. 53 B. ¥
C. 7\3 D. ?
D

gigad+b3=1103Ra+b=5¢% d(a
+ b)2 - 3ab Fr AT &:
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C. 48% D. 40%
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A.8:5 B.5:3
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B
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33 &, arad + b3 + c3 - 3abc & AT FAT

&2

A. 185 B. 192
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3R 40\5x% - 33y? = (2J§x —«/§y) x

(AX* +Bxy +Cy?) & @ B> +C’-A &
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A. 9 B. 8
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T FFaTs x @ ar-fags §, ar x @ s

F7 §?

A. 250 m B. 272 m
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B

ar (AABC) )
ar (APQR) T 16
¥ afd AB = 12 cm, BC = 6 cm 3R AC
9 cm g, aF QP R §:

.9cm B. 8 cm
.16 cm D. 12 cm

AT AABC ~ AQPR 3R

oNeIP NI

AABC &, D W AD L BC § 3R AE ZA &1
HAGIAASIF §| 39X «B = 72° 3R «C =
26° &, ar «DAE T AT &7 87

A. 37° B. 25°

C. 23° D. 49°

C

[ sin® +1+cosej( 1 ]
1+ coso sin0® tano + coto

T A ¢

A. 2sind B. 2cos6

C. cosb D. sin6
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A. D B. C
C.B D. E
B

T g #, AB 3 CD Shard us-gar &l E
W Fledr §| 3@ CD = 18 cm, DE = 6
cm IRAE=18cm§ dBE="7?

A. 3cm B. 6 cm
C. 8cm D. 4 cm
D

AABC &, ZA = 90° | 3@R BL 3R CM
ARy §, ar:
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A. 3 (BL2 + CM2) = 4 BC2
B. 5 (BL2 + CM2) = 4 BC?
C. 4 (BL2 + CM2) = 5 BC2
D. 4 (BL2 + CM2) = 3 BC?
C

15% 9fd a¥ & eT W 2% ¥ & fov .

4,096 &1 TR T ThJefd AT FAT g9,
3R SIS 10-ATR A §9 T Afoid giar 87

A.%. 1,736 B. %. 1,763
C.%1,726 D.%. 1,636
A

A 3R B TS HIY HIH X §U hEll 1 1
16 fealt 7 qU &Y Hahcl §, C 3R A Ao
30 32 el & Q@ & wHd §, B HN C
et 3 24 Gl 7 U & | | 3eviet
12 Rt de v @y F 61| a9 ge S

1 C 31 Rt Rt 3 o o
A. 45 B. 36

C. 32 D. 40
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3] UL 3T FH 90% W FI | 3N
3HHT @I 25% ¢ ofar & 3R F9ad 30%
G SATr &, df 39% ddel H fohclsl YT T

g™ gieir 87
A. 22.5% B. 24%
C. 20% D. 25.5%

Fell A 3R B # faeandat 1 $o dear 96
g| el A # faeariiat & d&ar B & Jorel
H 40% 3% g| F&m B & fagafdat &
rad aatet (kg #) Fam A F et
oIl & 50% 3T §| 3R Hem A IR B &
gt faeaRiat &1 3itaa aoi 58 kg &, ar
a7 B & et &1 sirad aoret fhder 872

A. 48 kg B. 66 kg
C. 72 kg D. 60 kg
C

el o & a3 A @ GAh A %, 5,220 H
qAT| Th aEg W IW 16% HT W8T EIH AR
a0 W 10% I 1A g§| R - W 38

[ERCIRCIE ] §34ng1ﬁ§é:

A. o9, %. 140 B. g1fa1, ¥. 125
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B, C 3R E #ufarai &1 Arezarsfrel 1 For
3cuTesT &7 3ad, D &7 AearsiFelr & A@T
T fraer wfaerd & 82
A. 8% B.
C. 6% D.
A

Ife 3cos2A + 6sin2A = 3, 0° < A <90°§g,
ar A T A &
A. 45°

C. 30°
D

TGSt ABCD & 3o Teh gl S=Irdl Sfrcll §
St =T AB, BC, CD 3R DA &I %#r: P,
Q, R 3R S X el &xar &| afd AS = 8
cm, BC =11 cm, 3IRCR=5cm &, ar

.3%
7%

B. 90°
D. 0°

Ans:

Ans:

Ans:

Ans:

AB T FFITS S B
A. 16 cm B. 13 cm
C. 14 cm D. 12 cm
C
x* +x7?
31?1Tx2+1=3x%,a’f¥
(X2+5X+1)

AT &
A. 2l B. 4l

3 2
c. 21 D. 31 Ans:

4 2 6
c .

English Language

Select the correct passive form of the
given sentence.

Bill Gates has given away twenty seven

percent of his wealth in charity.

A. Twenty seven percent of his wealth
had been given away by Bill Gates
in charity.

B. Twenty seven percent of his wealth
has given away Bill Gates in charity.

C. Twenty seven percent of his wealth
has been given away by Bill Gates in
charity.

Ans:
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D. Bill Gates has been given away by
twenty seven percent of is wealth in
charity.

C

Select the most appropriate synonym

of the given word.

COMBUSTIBLE

A. unbreakable B. nonexplosive
C. fragile D. inflammable
D

Select the wrongly spelt word.

A. emphasis B. emolument

C. emporium D. emmision

D

Select the most appropriate meaning of
the given idiom

As clear as mud

A. impossible to understand

B. extremely dirty

C. honest and legal

D. completely suitable for someone

A

Given below are four jumbled sentenc-
es. Out of the given options pick the
one that gives their correct order.

A. Early on Christmas morning Pip re-
turns to the graveyard with the file,
a pie and brandy.

B. On Christmas Eve, Pip, an orphan
who is about seven years old, en-
counters an escaped convict in the
village graveyard.

C. The convict scares Pip into stealing
food and a file.

D. Pip, who lives his elder sister and
her husband Joe Gargery, a black-
smith, steals a file and some food.

A. DCAB B. CBAD
C. BDCA D. BCDA
D

Select the word which means the same
as the group of words given.

That which cannot be taken by force

A. impregnable B. inapprehensible
C. inaccessible D. immutable

A

Select the most appropriate option to
substitute the underlined segment in
the given sentence. If there is no need
to substitute it, select No improve-
ment.

The children are too young to sit up a
long lecture.

A. sit across

B. sit through

C. No improvement

D. sit away
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Ans: B
8. Select the most appropriate word to fill
in the blank.

Financial institutions that had their
premises in the World Trade Centre

were crippled by the loss of and
hardware.
A. person B. personnel
C. individual D. group
Ans: B

9. Select the most appropriate antonym
of the given word.

CORROBORATE

A. confirm B. contradict

C. approve D. verify
Ans: B

10. Select the correct indirect form of the
given sentence.

I asked the shopkeeper, “What is the

price of this bike?”

A. I asked the shopkeeper what the
price of that bike was.

B. I asked the shopkeeper that what
the price of this bike was.

C. I asked the shopkeeper what is the
price of this bike.

D. I asked the shopkeeper what was
the price of that bike.

Ans: A

Comprehension:

In the following passage some words have
been deleted. Fill in the blanks with the help
of the alternatives given. Select the most
appropriate option for each blank.

Bill Gates is the second-richest (1)

in the world. He is (2) an estimated
$ 103 billion. His wealth (3) only by
Jeff Bezos, (4) has a current net
worth of $ 116 billion. Gates is (5)

rich that an average American spending $ 1
is similar to Gates spending $ 1.06 million.

SubQuestion No: 11

11. Select the most appropriate option for

blank No. 1.

A. character B. personnel

C. human D. person
Ans: D

Comprehension:

In the following passage some words have
been deleted. Fill in the blanks with the help
of the alternatives given. Select the most
appropriate option for each blank.

Bill Gates is the second-richest (1)
in the world. He is (2) an estimated

$ 103 billion. His wealth (3) only by
Jeff Bezos, (4) has a current net
worth of $ 116 billion. Gates is (5)

rich that an average American spending $ 1
is similar to Gates spending $ 1.06 million.

SubQuestion No: 12

12. Select the most appropriate option for

blank No. 2.

A. classed B. cost

C. valuable D. worth
Ans: D

Comprehension:

In the following passage some words have
been deleted. Fill in the blanks with the help
of the alternatives given. Select the most
appropriate option for each blank.

Bill Gates is the second-richest (1)

in the world. He is (2) an estimated
$ 103 billion. His wealth (3) only by
Jeff Bezos, (4) has a current net
worth of $ 116 billion. Gates is (5)

rich that an average American spending $ 1
is similar to Gates spending $ 1.06 million.

SubQuestion No: 13

13. Select the most appropriate option for
blank No. 3.
A. is surpassing
C. surpassed
Ans: C

B. is surpassed
D. surpasses

Comprehension:

In the following passage some words have
been deleted. Fill in the blanks with the help
of the alternatives given. Select the most
appropriate option for each blank.

Bill Gates is the second-richest (1)

in the world. He is (2) an estimated
$ 103 billion. His wealth (3) only by
Jeff Bezos, (4) has a current net
worth of $ 116 billion. Gates is (5)

rich that an average American spending $ 1
is similar to Gates spending $ 1.06 million.

SubQuestion No: 14

14. Select the most appropriate option for

blank No. 4.

A. who B. whom

C. which D. whose
Ans: A

Comprehension:

In the following passage some words have
been deleted. Fill in the blanks with the help
of the alternatives given. Select the most
appropriate option for each blank.
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Bill Gates is the second-richest (1)

in the world. He is (2)
$ 103 billion. His wealth (3)
Jeff Bezos, (4)

an estimated
only by
has a current net

worth of $ 116 billion. Gates is (5)
rich that an average American spending $ 1
is similar to Gates spending $ 1.06 million.

SubQuestion No: 15

15.

Ans:
16.

Ans:
17.

Ans:
18.

Ans:
19.

Ans:
20.

Select the most appropriate option for
blank No. 5.

A. as B. too
C. such D. so
D

Select the most appropriate option to
substitute the underlined segment in
the given sentence. If there is no need
to substitute it, select No improve-
ment.

I try to avoid travel in the rush hour.
A. to travel

B. travelling in

C. travelling on

D. No improvement

B

Select the most appropriate antonym
of the given word.

MOROSE

A. sullen B. cheerful
C. unsatisfied D. mournful
C

Select the most appropriate word to fill
in the blank.

The thick smoke out of the
landfill site is making the city’s polluted
air even more toxic.

A. tossing B. rocking
C. billowing D. burning
C

In the sentence identify the segment
which contains the grammatical error.

The Cannes Film Festival attract some
of the world’s most famous people.

A. The Cannes Film Festival

B. most famous people

C. attract some of

D. the world’s

C

Given below are four jumbled sentenc-
es. Out of the given options pick the
one that gives their correct order.

A. In a small town in England, there
lived a poor little girl.

B. She was very excited but her right
shoe was worn out.

C. So, she went to a cobbler to get it
mended.

Ans:
21.

Ans:
22.

Ans:
23.

Ans:
24.

Ans:
25.

Ans:
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D. Her friend invited her to come to her
birthday party.

A. ADBC B. ACBD
C. DCAB D. CBAD
A

Select the most appropriate meaning o
the given idiom

Spill the beans

A. frighten someone

B. make an excuse

C. reveal a secret

D. create difficulty

C

Select the most appropriate synonym
of the given word.

EMBED

A. pull B. bury
C. dig up D. rise
B

In the sentence identify the segment
which contains the grammatical error.

Different-coloured natural foods not
only put a smile on children’s faces and
also benefit their overall growth.

A. Different-coloured natural foods

B. put a smile on children’s faces

C. and also benefit

D. benefit their overall growth

C

Select the word which means the same
as the group of words given.

A large impressive house

A. mansion B. shack
C. cabin D. fort

A

Select the wrongly spelt word.
A. booty B. brood
C. blosom D. boast
C
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